Study Guide and Review - Chapter 6

Choose a word or term that best completes
each statement.

1. If both compositions result in the
functions are inverse functions.

,then the

ANSWER:
identity function

2. In a(n) , the results of one function are
used to evaluate a second function.

ANSWER:
composition of functions

3. Radicals are if both the index and the

radicand are identical.

ANSWER:
like radical expressions

4. When there is more than one real root, the
nonnegative root is called the

ANSWER:
principal root

5. To eliminate radicals from a denominator or fractions
from a radicand, you use a process
called

ANSWER:
rationalizing the denominator

6. Equations with radicals that have variables in the
radicands are called

ANSWER:
radical equations
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7. Two relations are if and only if one
relation contains the element (b, a) when the other
relation contains the element (a, b).

ANSWER:
inverse relations

8. When solving a radical equation, sometimes you will
obtain a number that does not satisfy the original
equation. Such a number is called a(n)

ANSWER:
extraneous solution

9. The square root function is a type of

ANSWER:
radical function

Find [ fog](x)and[g= f](x).

flx)=2x+1
10.
g(x)=4x-5

ANSWER:
[fog](x)=8x-9
[.R{ f]{\} =8x-1

ANSWER:
[£=g](x)=x"-14x+50

[g 7 ]{.1.'}|=.1|L'1 6
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o flx)=x"+4
g(x)=-2x+1

ANSWER:
[fog](x)=4x" -4x+5

[g f]{l} =-2x* -7

. fx)=4x
g(x)=5x-1

ANSWER:
[_f ,51’]{.1'}=2{],1.'—4
[g _f']{.t}=20,\'—|

ANSWER:
[fog](x)=x-3x" +3x-1
[gqf']{:r:l =x'-1

flxy=x>+2x-3
15.° ( ] =
g(x)=x+1

ANSWER:

[fog](x)=x"+4x
[gof](x)=x"+2x-2
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16. MEASUREMENT The formula /" =3y converts

. " .
yardsy to feetf and / = 12 converts inches n to feet

ra

f. Write a composition of functions that converts
yards to inches.

ANSWER:
n =36y

Find the inverse of each function. Then graph
the function and its inverse.

17. f{x)=5x-6
ANSWER:
)=
by l
_"1'1’!“ ll_-_n_g',.,
-« { .
) X
"'"Ir"x"l
j‘ 1]
/
Y
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18. f(x)=-3x-5 2. £(x)= 4.1'5+I
ANSWER:
el g ANSWER:
)= - Sx-1
3 )= 4
i Jlf
1 LI A
iy MY #ud
\ % 11 [ )|
" Ie) X = T_T -
= —4—3—3( 3 4X
\\ T f/}'
o -3
f ILﬂ 7/ i
LY
: I
19. f {,1’]=E,1 +3 21. _f'{.l'}=.1'3
ANSWER: ANSWER:
£ (x)=21-6 FTo=£yx

8 A Y
T {@l ;

fi) | ML =
78 4-50| 4 6 8 x 0 x

eSolutions Manual - Powered by Cognero Page 3



Study Guide and Review - Chapter 6

%

22. f(x)=(2x+1) 26. g(x)=-3x" +2x -1
ANSWER: ANSWER:
14+ No
-

27. g(x)= 4x* —5x

% A
{ Al
F’ ANSWER:
—r No
0 X
Wy o i %
[F-1{x) 28. fx})=-3x"+x"-3
ANSWER:
No

23. SHOPPING Samuel bought a computer. The sales
tax rate was 6% of the sale price, and he paid $50

for shipping. Find the sale price if Samuel paid a total 29. h(x)=4x" —5x
of $1322.
ANSWER:
ANSWER: No
$1200
30. FINANCIAL LITERACY During the last month,
Use the horizontal line test to determine Jonathan has made two deposits of $45, made a
whether the inverse of each function is also a deposit of double his original balance, and has
function. withdrawn $35 five times. His balance is now $189.
Write an equation that models this problem. How
24. f(x)=3x" much money did Jonathan have in his account at the
' beginning of the month?
QNS WER: ANSWER:
© X + 2(45) + 2x — 5(35) = 189: about $91.33
25. h(x)=x"-3
ANSWER:
Yes
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Graph each function. State the domain and

range.

31. f(x)=+3x

ANSWER:

1)
~
/’,
0 X

L

D={x|x20}:R={ f(x)| f(x) 20}

32, f(x)=—V6x

ANSWER:
y

130\-23455?
2

= 1
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33. f(x)=Vx-7

ANSWER:
 fix)

16

12

ot | 4 | 8 | 12 | 16x

D={x|x27}:R ={f(x)] f(x)20}

34, f(x)=+x+5-3

ANSWER:

D={x|x*-5}:R = {;‘{1.] | ,,I"[.r]-"-E}

Page 5



Study Guide and Review - Chapter 6

Graph each inequality.
35. _f'{x}—'%s.!x—l +5 P g y
38. y=+x+3
ANSWER:
Fix) ANSWER:
..—_____Jy- __I_r.‘ ¥
- —9 5
I —
A ~
—3
L4
o : i :
: o 123456 7H
EEREEEE
D={x|x21}:R=}F(x)| f(x)=5}
39. y=—x—-1+2
36. _f'{.r};—]:u",t+4—l
2
ANSWER:
I
ANSWER: y
13
32100 1 2 3 4N
_M-
- .
=3 qs
-4 "“"l-._
-5 o ™1
il 1
~7
| L

D={x|xz-4};R = {r‘(t] | f(x)s —I}

37. GEOMETRY The area of a circle is given by the

formula 4 = 7" . What is the radius of a circle with
an area of 300 square inches?

ANSWER:
about 9.8 in.
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40. y<2Jx-5

ANSWER:

v

Simplify.

41. +121

ANSWER:
11

42. Y-125

ANSWER:
-5

43. /(-6)

o]

ANSWER:
6

44, MI'I (x4 _“--]II

ANSWER:
i(x +3)°
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45.

46.

47.

48.

49.

50.

| [+ 2)13
ANSWER:
(x* + 2)3

g{z?{x +3)

ANSWER:
3(x +3)

ANSWER:
a|b|

PR
LY A0 5
y243x7)

ANSWER:
25
Xy

PHYSICS The velocity v of an object can be

2K

“HI m
object and K is the kinetic energy in joules. Find the
velocity in meters per second of an object with a
mass of 17 grams and a Kinetic energy of 850 joules.

defined asv = , where mis the mass of an

ANSWER:
10 m/s

Simplify.

{4

ANSWER:

—

32
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51. J144a°b

ANSWER:

12ab> Jab

52. 4J6y -3\7x%y

ANSWER:
12| x| 42

53. {F\"ﬁ"ﬁ' ?x@—ﬁ

ANSWER:
8042

54. (635 ~242)(345 + 442

ANSWER:
74 +18J10

[or &
W G

11

_Ifil

ANSWER:
' N Bnnpr

[}

'IfJ
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-~

i ]
56—
5+y"§

ANSWER:
15-32

23

J3
" J5-J6

ANSWER:

- I'_
=15 =32

of the rectangle?

6—12

8443

ANSWER:

: = .
perimeter = 28 + 2\,."3 — 242 units:

area = 48 + 6+/3 — 82 - J6 units’

Simplify each expression.

| 3

¥

59, &% .x?

ANSWER:

.Il.n!n

58. GEOMETRY What are the perimeter and the area
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3 y. 1 2
] g gy
60. 64, X :r 1
x3
ANSWER:
]
it ANSWER:
m I :
X3 -y
!
61 dt 65. GEOMETRY What is the area of the circle?
f.lr:l
ANSWER: . Ea'} b%r:
HI';J
d
Simplify each expression. ANSWER:
2 4
I da* b e’ 7 units?
62. —
p
Solve each equation.
ANSWER:
; 66. Vx-3+5=15
i
.]I
ANSWER:
103
63. YNT29
67. —Jx=11=3-fx
ANSWER:
3 ANSWER:
[ 00
9
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68. 4+-/3x-1=8

ANSWER:
17

Lad

69. vm+3=-2m+1

ANSWER:
2

70. \.‘Ij.\' T 1 = ‘5

ANSWER:
3

71. (x+1)s =3

ANSWER:
no solution

1
72 at =4 =10

ANSWER:
64

]

73. 3(3x—1)3 —6=0

ANSWER:
3
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-
.

\ 32
swing of a pendulum, where t is the time in seconds
for the pendulum to swing back and forth and ' is
the length of the pendulum in feet. Find the length of
a pendulum that makes one swing in 2.75 seconds.

74. PHYSICS The formulat = 27 represents the

ANSWER:
about 6.13 ft

Solve each inequality.

fm 5 -
75. 2+ \,"3.\.'—] < )

ANSWER:
I 10

— S X< —
- 5]
2 2

76. N3x+13-5=5

ANSWER:

x=29
77. {3—\!3.1'-9-5

<3

ANSWER:

| =

=
5 ]
a

78. W=3x+4-5=3

ANSWER:

x=-=20

79. 5442y -T <5

ANSWER:
no solution
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80. 3++/2x-323

ANSWER:

&

re—
-

81. Wix+1—=~J6+x =0

ANSWER:

2
xX>—=
)
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